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B [K4 ouT IN TOX HDCP EDRS

1 {4k = 39 41 80 10.8 6.2
2 = Ea 40 43 83 12 71
3 f|iEH H— 47 40 87 15.6 71.4
4 fZ[FIE Fk 42 43 85 13.2 71.8
b {i|M BE— 39 39 78 6 72
6 fi| EF f2— 44 2 86 13.2 72.8
7 filEE E— 44 48 92 19.2 72.8
8 fu|BA ARk 50 48 08 25. 2 72.8
9 fi[fAE {HER 44 48 92 19.2 72.8
10 fu [EAWE_#018 43 45 88 14.4 73.6
1z |iRE ER 49 39 88 14.4 73.6
12 fu|&s fiE 46 41 87 13.2 73.8
13 |5 E B 44 42 86 12 74
14 (%K B 45 46 o 16.8 74.2
IRAEES: 45 46 01 16.8 74,2
IRAENET 45 45 90 15.6 74,4
17 G| RHF L 50 46 06 21.6 74,4
18 fi|ihA Bk 40 38[~ 270178 3.6 74,4
10 fu|=7% Ea 46 49 95 20. 4 74.6
20 fu| AL <F 42 41 83 8.4 74.6
21 fu| KBTI S5 46 42 88 13.2 74.8
VRS 46 47 03 18 75
23 (MBS BA 52 47 99 24 75
24 2% B 45 47 92 16.8 75.2
25 i|IaF HE 49 2 01 15.6 75. 4
26 {1 |F7 PHER 52 48 100 24 76
27 fil#F mE 43 51 04 13 76
28 {i|&ET =8I 50 44 04 13 76
29 fu|FA EA 55 51 106 30 76
30 fi|H L BE 45 42 87 10.8 76.2
31 fi[RE 5= 45 48 03 16.8 76.2
32 {u|®HE =4 53 51 104 27.6 76. 4
33 fi| EFf %R 47 44 01 4.4 76.6
34 {i|F% % 46 53 99 21.6 71.4
35 fi|/NE KE 43 42 85 7.2 77.8
36 {u|mA Bt 52 45 07 18 79
RS EET 52 55 107 27. 6 79. 4
38 fu[as A= 50 43 03 13.2 79.8
30 fitE EX 48 44 92 12 80
40 f[EF kik 51 59 110 30 80
41 filtEm B 55 54 109 27. 6 81. 4
YRGGEE S 50 51 101 19.2 81.8
43 fi|mA HE— 59 53 112 30 82




